ELEHE — AEEREE  REGBE ﬁ%ﬁ%ﬁm BATSHE ATSHE — SECEHE
1tﬂ'h§ﬂ§ vz 7

. 09151
o kil

o s
wAl A mp D mE|me
Siigk %ﬁﬁﬂﬁ Liiléit! mﬁuem 1 90% = 1 50%

o0

s
g 80% E 100 o) & B e sedpErEy b
D 09175 (EI.:‘%BE%) 09163

T 7w
“

n .
= / %
3 n 7 %
e 2 0N

:@ %ﬁﬂﬁi& :1t1ﬁ]iﬁ.'. ; :Itﬁ'béﬂ% :@ :H:ﬂ'l%ﬂ'.'

S
BTN D) /

256-45 25546

30%-15

sy 258
\_ oo @m0 — 275+
o 22— P 15
P
— a ﬂ e .
— zsx sa
—~ W b .
— Ts
| -
- si10 u 2\ o
— — —
— sty 30 S———058F \M — e
| m /T e m— smsp-21
| sis ¢ —
| 2 ” m \
§ o

30%-13 3040-15

60 5012
N4

= =K
— >+
| l . - g@ ]$$¥

ﬁﬁ Xig ({ERHE
: / // 1T In 3060-31 / a
i 3072-16 3072-4
| E e sos —

Ay 3072-48 - ]
\‘ 301232 Eird ﬁlﬁém 3060-58 //ansn 96
i smz e 3080-58

[ — /N
-~ [ .
T / SN -

254-4 2072

/ / aea -
3195 /) N4 @ 20573 2312
31511 W foR)
\// Q -1z 340 250-40 5 w23 2599
v/ an 65-5
5 —]

[




